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iz'u iqfLrdk Øekad / Question Booklet Serial No. : 

INTERMEDIATE EXAMINATION – 2025 
bUVjehfM;V ijh{kk & 2025 

  ¼ANNUAL@okf"kZd ½ 
fo"k; dksM    MODEL QUESTION 
Subject Code:  AGRICULTURE (Elective) 

 d̀f"k ¼,sfPNd½ 
I.Sc. (THEORY/lS)kfUrd) 

dqy iz'u % 70 $ 20 $6 ¾ 96  dqy eqfnzr i`"B %27 

Total Question: 70 + 20 + 6 = 96 Total Printed Pages : 27 

¼le; % 3 ?kaVs 15 feuV½ ¼iw.kkZd % 100½ 

[Time : 3 Hours 15 Minutes] [Full Marks : 100] 

 

 

ijh{kkfFkZ;ksa ds fy, funsZ'k @ Instructions for the candidates : 

 

1- ijh{kkFkhZ OMR mÙkj i=d ij viuk iz'u iqfLrdk Øekad ¼10 vadks dk½ vo'; fy[ksaA 

Candidates must enter his / her Question Booklet Serial No. (10 Digits) in the OMR 

Answer Sheet. 

 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give their answer in their own words as far as practicable. 

 

3- nkfguh vksj gkf'k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right-hand margin indicate full marks. 

 

4- iz'uksa dks /;ku iwoZd i<+us ds fy, 15 feuV dk vfrfjä le; fn;k x;k gSA 

An extra time of 15 minutes has been allotted to read the questions carefully. 

 

5- ;g iz'u i= nks [k.Mksa esa gS & [k.M *v^ ,oa [k.M *c^A 

This question booklet is divided into two sections – Section ‘A’ and Section ‘B’. 
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iz'u iqfLrdk lsV dksM 
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6- [k.M Þvß esa 70 oLrqfu"B iz'u gSa ftuesa 35 iz'u vfuok;Z gSA ;fn ijh{kkFkhZ 35 ls vf/kd iz'uksa ds 

mÙkj nsrs@nsrh gSa] rks izFke 35 mÙkjksa dk gh ewY;kadu fd;k tk;sxkA izR;sd iz'u ds fy, 1 vad 

fu/kkZfjr gSA buds mÙkj nsus gsrq OMR mÙkj&i=d ij lgh fodYi dks dkys@uhys ckWy isu ls 

izxk<+ djsaA fdlh Hkh izdkj ds ukbVuj@ rjy inkFkZ@ CysM@uk[kwu vkfn dk OMR mÙkj i=d 

esa iz;ksx ugha djsa vU;Fkk ijh{kk vekU; gksxkA 

In Section – A there are 70 objective type question out of which 35 questions are compulsory. 

If the candidates answer more than 35 questions, the first 35 questions only will be 

evaluated. Each question carries 1 mark for answering these darken the correct circle on the 

OMR Answer Sheet with black/blue ball pen. Do not use whitener/liquid material/ blade/ 

nail etc on the OMR Answer Sheet otherwise the result will be invalid. 

 

7- [k.M *c^ esa 20 y?kq mÙkjh; iz'u gSaA izR;sd iz'u ds fy, 2 vad fu/kkZfjr gSa] ftuesa ls fdUgha 10 

iz'uksa dk mÙkj nsuk vfuok;Z gSA blds vfrfjä bl [k.M esa 6 nh?kZ mÙkjh; iz'u fn;s x;s gSa] 

ftuesa ls fdUgha 3 iz'uksa dk mÙkj nsuk vfuok;Z gSA izR;sd ds fy, 5 vad fu/kkZfjr gS] 
 

In Section-B there are 20 short Answer Type Questions. Each question carries 2 marks. Out 

of which any 10 questions are to be answered. Apart from these, there are 6 Long answer 

type questions out of which any 3 questions are to be answered. Each questions carries 5 

marks, 

 
 

8- fdlh izdkj ds bysDVªkfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 
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[k.M & v @ Section-A 

oLrqfu"B iz'u @ Objective Type Questions 

iz'u la[;k 1 ls 70 rd ds izR;sd iz'u ds lkFk pkj fodYi fn;s x;s gSa] ftuesa ls ,d lgh 

gSA vius }kjk pqus x;s fodYi dks OMR 'khV ij fpfàr djsaA dsoy 35 iz'uksa ds gh mÙkj 

nsaA 35 x 1 = 35 

Question Nos 1 to 70 have four options each, out of which only one is correct, you have to mark 

your selected option on the OMR sheet. Answer any 35 questions. 35 x 1 = 35 

 

1- vkfFkZd egRo okys ikS/kksa dk ,slk lewg] tks fdlh fuf'pr HkkSxksfyd {ks= esa mxk;k x;k 

gks] mls D;k dgrs gSa \ 

 (A) Qly (B) vukt  

 (C) taxy (D) cxhpk 

 What is a group of plant of economic importance grown in a particular geographical area called? 

 (A) Crop (B) Cereals  

 (C) Forest (D) Garden 

 

2- /kjrh dh lHkh ouLifr;k¡ u"V gks tkus ij D;k gksxk \ 

 (A) ekuo thou [kRe gks tk,xk (B) leLr tho [kRe gks tk,¡xs  

 (C) ty&thou [kRe gks tk,xk (D) dsoy i{kh cpsaxs 

 What will happen if all the vegetation on earth is destroyed? 

 (A) Human life will end (B) All living being will destroyed  

 (C) Aquatic life will be destroyed (D) Only the birds will survive 

 

3- fdl _rq esa okrkoj.k esa Å¡pk rkieku o vknzZrk gksrh gS \ 

 (A) [kjhQ (B) jch  

 (C) xjek (D) buesa ls dksbZ ugha 
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 In which season, there is high temperature and humidity in the atmosphere? 

 (A) Kharif (B) Rabi  

 (C) Summer (D) None of these 

 

4- fuEu esa ls dkSu ekyoslh dqy dk Qly gS \ 

 (A) VekVj (B) rhlh  

 (C) iVlu (D) v.Mh 

 Which of the following is a crop of the Malvaceae family? 

 (A) Tomato (B) Linseed  

 (C) Jute (D) Castor 

 

5- dikl ds pkjk vksj fdl Qly dks yxkdj dkWVu jsM cx dk fu;a=.k djrs gSa \ 

 (A) fepZ (B) VekVj  

 (C) QwyxksHkh (D) fHk.Mh 

 Red cotton bug is controlled by planting which crop around cotton? 

 (A) Chilli (B) Tomato  

 (C) Cauliflower (D) Ladyfinger 

 

6- fdl Qly ls ,FksukWy izkIr fd;k tkrk gS \ 

 (A) vkyw (B) xUuk  

 (C) (A) ,oa (B) nksuksa (D) I;kt 

 Ethanol is obtained from which crop? 

 (A) Potato (B) Sugercane  

 (C) both (A) and (B) (D) Onion 
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7- xgjh tM+okyh Qly gS & 

 (A) /kku  (B) xsgw¡ 

 (C) tkS (D) vjgj 

 Deep rooted crop is - 

 (A) Paddy (B) Wheat 

 (C) Barley (D) Pigeon pea 

 

8- fcgkj dh [kk|kUu Qlyksa esa lcls egRoiw.kZ dkSu Qly gS \ 

 (A) /kku (B) xsgw¡ 

 (C) eDdk (D) eVj 

 Which one is the most important crop among the cereals of Bihar? 

 (A) Paddy (B) Wheat  

 (C) Maize (D) Pea 

 

9- fcgkj esa /kku dh mRikndrk fdruk gS \ 

 (A) 2025 fdxzk@gsŒ (B) 2225 fdxzk@gsŒ  

 (C) 2525 fdxzk@gsŒ (D) 2825 fdxzk@gsŒ 

What is the productivity of paddy in Bihar? 

 (A) 2025 kg/ha  (B) 2225 kg/ha  

 (C) 2525 kg/ha (D) 2825 kg/ha 

 

10- ekU;rk ds vuqlkj xsgw¡ fdlds }kjk Hkkjr yk;k x;k \ 

 (A) vk;ksZ }kjk (B) vaxzstksa }kjk  

 (C) iqrZxkyh;ksa }kjk (D) ;wukfu;ksa }kjk 
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 According to belief, who brought wheat to India? 

 (A) By the Aryans (B) By the British  

 (C) By Portuguese (D) By the Greeks 

 

11- xsgw¡ dk dtjk dhV dk oSKkfud uke D;k gS \ 

 (A) lhjiksQSxk buljVqykl (B) ,xzksVhl bfIlykWu  

 (C) ,DlhykfLVl ,sVksekslk (D) Likbykslksek vkWfCyDok 

 What is the scientific name of cut work of wheat? 

 (A) Scirpophaga incertulas (B) Agrotis ipsilon  

 (C) Exelastis atomosa (D) Spilosoma obliqua 

 

12- D;qŒ ihŒ ,eŒ D;k gS \ 

 (A) /kku (B) xsgw¡  

 (C) eDdk (D) puk 

What is Q.P.M.?  

 (A) Paddy (B) Wheat  

 (C) Maize (D) Gram 

 

13- fdl Qly esa ok;qe.My ds vla;qä ukbVªkstu dks Hkwfe esa LFkkfir djrs gSa \ 

 (A) [kk|kUu Qly (B) nygu Qly  

 (C) rsygu Qly (D) pkjk Qly 

In which crop the uncombined Nitrogen of atmosphere is fixed in the soil? 

 (A) Cereals (B) Pulse crops  

 (C) Oilseed crops (D) Fodder crops 
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14- dkSu lh nygu dh iSnkokj lalkj dk 90 izfr'kr Hkkjr esa gksrk gS \ 

 (A) vjgj (B) puk  

 (C) ew¡x (D) elwj 

 90 percent of the world’s production of which pulse is produced in India? 

 (A) Pigeon pea (B) Gram  

 (C) Green gram (D) Lentil 

 

15- elwj dh [ksrh fdl tyok;q esa gksrh gS \ 

 (A) dfVcU/kh; (B) 'khrks".k  

 (C) m".k (D) 'kq"d 

 In which climate, lentil cultivation is done? 

 (A) Sub-topical (B) Temperate  

 (C) Tropical (D) Arid 

 

16- fuEu esa dkSu rky {ks= dk ,d izeq[k Qly gS \ 

 (A) mM+n (B) ljlks  

 (C) xUuk (D) elwj 

 Which of the following is a major crop of Tal region? 

 (A) Black gram (B) Mustard  

 (C) Sugarcane (D) Lentil 

 

17- eVj dk mRifÙk LFky vuqekur% dgk¡ gS \ 

 (A) ikfdLrku (B) mÙkj&if'pe Hkkjr  

 (C) vQxkfuLrku (D) bues ls lHkh 



 
Page 8 of 27 

 

 Where is the supposed origin of peas? 

 (A) Pakistan (B) Nort-West India  

 (C) Afganistan (D) All of these 

 

18- lezkV ,oa lksuk fdldk mUur izHksn gS \ 

 (A) puk (B) ewax  

 (C) eVj (D) ewaxQyh 

 Samrat and Sona are improved varieties of which crop? 

 (A) Gram (B) Green gram  

 (C) Pea (D) Groundnut 

 

19- fuEu esa ls fdldh [ksrh dh fcgkj esa vikj laHkkouk gS \ 

 (A) ewaxQyh (B) dikl  

 (C) /kku (D) xsgw¡ 

 Which of the following has immense potential for cultivation in Bihar? 

 (A) Groundnut (B) Cotton  

 (C) Paddy (D) Wheat 

 

20- ljlks dh [kYyh fdls ugha f[kyk;k tk ldrk gS \ 

 (A) xk; (B) eqxhZ;ksa  

 (C) lwvjksa (D) (B) ,oa (C) nksuksa 

 Mustard cake cannot be fed to it? 

 (A) Cow (B) Chickens  

 (C) Pigs (D) Both (B) and (C) 
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21- ljlks dk cht nj gS & 

 (A) 2 fdxzk@gsŒ (B) 5 fdxzk@gsŒ  

 (C) 8 fdxzk@gsŒ (D) 10 fdxzk@gsŒ 

 Seed rate of mustard is - 

 (A) 2 Kg/ha (B) 5 Kg/ha  

 (C) 8 Kg/ha (D) 10 Kg/ha 

 

22- rhlh dk okuLifrd uke D;k gS \ 

 (A) czSfldk tqfUl;k ,y- (B) fyue ;wflVkfVflee ,y-  

 (C) czSfldk dSEisfLVªl ,y (D) buesa ls dksbZ ugha 

 What is the botanical name of Linseed? 

 (A) Brassica juncea L. (B) Linum Usitatissimum L.  

 (C) Brassica campestris L. (D) None of these 

 

23- lkcqu ,oa izlk/ku m|ksxksa esa fdldk mi;ksx gksrk gS \ 

 (A) lw;Zeq[kh (B) rEckdw  

 (C) cjlhe (D) xUuk 

 Which is used in soap and cosmetic industries? 

 (A) Sunflower (B) Tobacco  

 (C) Berseem (D) Sugarcane 

 

24- 'kjrdkyhu xUuk dk jksikbZ dk le; D;k gS \ 

 (A) 01 vxLr ls 15 flrEcj (B) 01 flrEcj ls 15 vDVwcj  

 (C) 15 vDVwcj ls 30 uoEcj (D) 15 uoEcj ls 31 fnlEcj 
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 What is the time for planting autumn sugarcane? 

 (A) 01 August to 15 September (B) 01 September to 15 October  

 (C) 15 October to 30 November (D) 15 November to 31 December 

 

25- xUuk jksikbZ esa fdrus vk¡[kks okyh fxfYy;k¡ mi;ksx djuk pkfg, \ 

 (A) ,d (B) nks  

 (C) rhu (D) pkj 

 How many eyed galls should be used in sugarcane plantation? 

 (A) One (B) Two  

 (C) Three (D) Four 

 

26- fcgkj esa twV dh [ksrh fdl {ks= esa gksrh gS \ 

 (A) dkslh {ks= (B) Vky {ks=  

 (C) ex/k {ks= (D) lksu {ks= 

In which area is Jute cultivated in Bihar? 

 (A) Kosi region (B) Tal region  

 (C) Magadh region (D) Sone region 

 

27- dsIlwysfjl fdldk izdkj gS \ 

 (A) Tokj (B) twV  

 (C) dikl (D) rEckdw 

 Capsularis is a type of which plant? 

 (A) Sorghum (B) Jute  

 (C) Cotton  (D) Tobacco 
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28- fdl pkjk Qly dh dVkbZ dsoy ,d ckj dh tk ldrh gS \ 

 (A) eDdk (B) usfi;j ?kkl  

 (C) cjlhe (D) Tokj 

Which fooder crop can be harvested only once? 

 (A) Maize (B) Napier grass  

 (C) Berseem (D) Sorghum 

 

29- fdl Qly dh [ksrh pkjs ,oa vukt nksuksa ds fy, djrs gSa \ 

 (A) xsgw¡ (B) eDdk  

 (C) cjlhe (D) vjgj 

 Which crop is cultivated for both fodder and grain? 

 (A) Wheat (B) Maize  

 (C) Berseem (D) Pigeon pea 

 

30- ¼ladj usfi;j $ cjlhe½ & fdl Qly i)fr dk mnkgj.k gS \ 

 (A) vUrZorhZ [ksrh (B) fefJr [ksrh  

 (C) Øekxr [ksrh (D) lekukUrj [ksrh 

(Hybrid Napier + Berseem) is an example of which cropping system? 

 (A) Inter cropping (B) Mixed cropping  

 (C) Sequential cropping (D) Parellel cropping 

 

31- fdlh {ks= fo'ks"k esa yxh lHkh Qly iz.kkfy;ksa ds tksM+ dks D;k dgrs gSa \ 

 (A) Qly pØ (B) cgqeatyh [ksrh  

 (C) Qly rhozrk (D) Qly [ksrh 
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The sum total of all the cropping systems adopted in the reported area is called? 

 (A) Crop rotation (B) Multi storied cropping  

 (C) Cropping intensity (D) Cropping pattern 

 

32- fefJr [ksrh fdl {ks= esa mi;ksxh gS \ 

 (A) flafpr {ks= (B) vflafpr {ks=  

 (C) (A) ,oa (B) nksuksa (D) buesa ls dksbZ ugha 

 In which area is mixed cropping useful? 

 (A) In Irrigated region (B) In non-Irrigated region  

 (C) Both (A) and (B) (D) None of these 

 

33- dUtEifVo ;wt vkWQ okVj dks fdl :i esa tkuk tkrk gS \ 

 (A) ok"iksRltZu (B) bosiksVªkUlfijs'ku  

 (C) flapkbZ (D) ty fudkl 

Consumptive use of water is known as what? 

 (A) Transpiration (B) Evapotranspiration  

 (C) Irrigation (D) Drainage 

 

34- ikS/ks ds ØkfUrd voLFkk esa fdldh vfrfjä vko';drk gksrh gS \ 

 (A) ueh dh (B) iks"kd rRoksa dh  

 (C) (A) ,oa (B) nksuksa (D) dhVuk'kd dh 

What is additionally required during the critical stage of a plant? 

 (A) Moisture (B) Nutrients  

 (C) Both (A) and (B) (D) Insecticide 
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35- Hkwfe esa ueh dh x.kuk fdl ;a= ls dh tkrh gS \ 

 (A) bjksehVj (B) jsuxst  

 (C) ,useksehVj (D) cSjksehVj 

Which instrument is used to measure soil moisture? 

 (A) Irrometer (B) Raingauge  

 (C) Anemometer (D) Barometer 

 

36- xsgw¡ vkSj eDdk ds fy, vkbŒMCyw@lhŒihŒbZŒ fdruk fu/kkZfjr gS \ 

 (A) 0.1 (B) 0.8  

 (C) 2 (D) 10 

 What is the I.W/C.P.E. fixed for wheat and maize? 

 (A) 0.1 (B) 0.8  

 (C) 2 (D) 10 

 

37- dkSu lk flapkbZ fof/k foKku dh ;kaf=d fof/k dk uewuk gS \ 

 (A) ty Iykou fof/k (B) cksMZj fof/k  

 (C) csflu fof/k (D) Mªhi fof/k 

Which method of irrigation is an example of mechanical method of science? 

 (A) Flooding method (B) Border method  

 (C) Basin method (D) Drip method 

 

38- tM+ksa esa vu,bjksfcd fjlikbjs'ku dks dSls jksdk tk ldrk gS \ 

 (A) flapkbZ }kjk (B) ty fudkl }kjk  

 (C) dhVuk'kd }kjk (D) moZjd }kjk 
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 How can anaerobic respiration in roots be prevented? 

 (A) By irrigation (B) By drainage  

 (C) By insecticide (D) By fertilizer 

 

39- mÙkj Hkkjr esa {kkjh; e`nkvksa dks fdl uke ls tkuk tkrk gS \ 

 (A) mlj e`nk (B) dyyj e`nk  

 (C) catj e`nk (D) mijksä lHkh 

 By what name are alkaline soil known in North India? 

 (A) Usar soil (B) Kallar soil  

 (C) Banjar soil (D) All of above 

 

40- fuEu Qly esa ls dkSu yo.k lfg".kq gS \ 

 (A) /kku (B) ewax  

 (C) lsc (D) vjgj 

 Which of the following crops is salt tolerant? 

 (A) Paddy (B) Green gram  

 (C) Apple (D) Pigen pea 

 

41- nqcZy vEyh; eǹk dk ihŒ,pŒ gksrk gS & 

 (A) 5.7 (B) 6.7  

 (C) 7.0 (D) 7.7 

 Slightly acidic soil has a pH of - 

 (A) 5.7 (B) 6.7  

 (C) 7.0 (D) 7.7 
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42- xsgw¡ ds [ksr esa ;fn dgha&dgha /kku mx tk, rks mls D;k dgsaxs \ 

 (A) oSdfYid Qly (B) vfrfjä Qly  

 (C) [kjirokj (D) u;k Qly 

 What should you call it if paddy grows here and there in a wheat field? 

 (A) Alternative crop (B) Extra crop  

 (C) Weeds (D) New crop 

 

43- fuEufyf[kr esa fdldk cht 25 ls 40 o"kZ ckn Hkh mx ldrk gS \ 

 (A) puk (B) /kku  

 (C) ljlks (D) cFkqvk 

Whose seed among the following can germination even after 25 to 40 years? 

 (A) Gram (B) Paddy  

 (C) Mustard (D) Bathua 

 

44- fuEu esa ls dkSu xzh"e dky ds [kjirokj gSa  \ 

 (A) eksFkk (B) ihyk /krqjk  

 (C) fo"k [kiM+k (D) iRFkj pV~Vk 

 Which of the following is a summer weed? 

 (A) Motha (B) Peela Dhatura  

 (C) Vish Khapra (D) Patthar Chatta 

 

45- fuEu esa ls dkSu vkyw ifjokj dk [kjirokj gS \ 

 (A) edks; (B) nwc  

 (C) ou I;kt (D) taxyh twV 
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Which of the following is a weed of the solanaceae family? 

 (A) Makoy (B) Dub  

 (C) Van pyaj (D) Jangali jute 

 

46- dspq,s dh [kkn ds vdZ dks D;k dgrs gSa \ 

 (A) ck;ks xSl (B) oehZ ok'k  

 (C) oehZ rsy (D) daiksLV 

 What is the extract of vermi compost called? 

 (A) Bio gas (B) Vermi wash  

 (C) Vermi oil (D) Compost 

 

47- ,d fdyksxzke jkbtksfc;e dYpj ds iz;ksx ls fdrus fdyksxzke ukbVªkstu dh cpr gksrh 

gS \ 

 (A) 1 (B) 10  

 (C) 100 (D) 500 

How many kilograms of nitrogen is saved by using one kilogram of rhizobium culture? 

 (A) 1 (B) 10  

 (C) 100 (D) 500 

 

48- Ukisn fof/k ls fdls cuk;k tkrk gS \ 

 (A) ck;ks xSl (B) dEiksLV [kkn  

 (C) oehZ dEiksLV (D) uhe mRikn 

 What is made by Naped method? 

 (A) Bio gas (B) Compost manure  

 (C) Vermi compost (D) Neem products 
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49- ty Hkj.k izca/ku ds fy, lgh gS & 

 (A) ty dk vf/kd nksgu (B) ty dh cckZnh  

 (C) feêh {kj.k jksduk (D) buesa ls dksbZ ugha 

 Correct for watershed management is - 

 (A) Over exploitation of water (B) Wastage of water  

 (C) Preventing soil erosion (D) None of these 

 

50- vkt Hkh vf/kdka'kr% os dkSu yksx gSa tks _.k es tUe ysrs gSa] _.k esa gh thfor jgrs gSa 

vkSj _.k esa gh ej tkrs gSa \ 

 (A) etnwj  (B) NksVs fdlku  

 (C) nyky (D) fjD'kk pkyd 

 Even today, who are most of those people who are born, live in debt and die in debt? 

 (A) Labour (B) Small farmers  

 (C) Broker (D) Rickshaw puller 

 

51- d`f"k {ks= esa yxk Je'kfä dk ,d cM+k Hkkx vU; O;olk;ksa ds fy, D;ksa miyC/k gS \ 

 (A) d`f"k {ks= esa de Jfedksa dh vko';drk (B) d`f"k {ks= esa csjkstxkjh  

 (C) d`f"k {ks= esa de Jfedksa dks de etnwjh (D) buesa ls dksbZ ugh a 

Why is large portion of the labour force engaged in the agricultural sector available for other 

occupations? 

 (A) Less works required in the agricultural sector (B) Unemployment in the agriculture sector  

 (C) Low wages to workers in the agriculture sector (D) None of these 

 

52- 1-0 ls 2-0 gsDVS;j tksr okys fdlku dks D;k dgrs gSa \ 

 (A) lhekar fdlku (B) y?kq fdlku   

 (C) e/;e fdlku (D) ògr fdlku 
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 What do you call a farmer who has 1.0 to 2.0 hectares of land? 

 (A) Marginal farmer (B) Small farmer  

 (C) Medium farmer (D) Large farmer 

 

53- d`f"k foi.ku fdldk ewy vL= gS \ 

 (A) /kuh fdlku dk (B) fucZy fdlku dk  

 (C) O;kikjh dk (D) d`"kd etnwj dk 

 Agricultural marketing is the main weapon of? 

 (A) Rich farmer (B) Weak farmer  

 (C) Businessman (D) Farmer labour 

 

54- 'kjhj dks LoLFk j[kus ds fy, izfrfnu fdrus xzke Qy ds lsou dh laLrqfr dh xbZ gS \ 

 (A) 50 (B) 100  

 (C) 150 (D) 200 

 How many grams of fruit is recommended to be consumed daily to keep the body healthy? 

 (A) 50 (B) 100  

 (C) 150 (D) 200 

 

55- vaxwj fdl izdkj dk Qy gS \ 

 (A) Å".k dfVcU/kh; (B) miks".k dfVcU/kh;  

 (C) 'khrks".k dfVcU/kh; (D) 'kq"d tyok;q 

 What type of fruit is a grape? 

 (A) Tropical (B) Sub-tropical  

 (C) Temperate (D) Arid climate 
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56- cgqo"khZ; lCth dk mnkgj.k gS & 

 (A) ijcy (B) VekVj  

 (C) QwyxksHkh (D) I;kt 

 It is an example of a perennial vegetable - 

 (A) Pointed gourd (B) Tomato  

 (C) Cauliflower (D) Onion 

 

57- Qy ikS/kksa dks 'kq:vkrh voLFkk ls dkV&Nk¡V dj etcwr djuk D;k dgykrk gS \ 

 (A) th.kksZ)kj (B) izoZ/ku  

 (C) l/kkbZ (D) buesa ls dksbZ ugha 

What is it called to strengthen fruit plants by pruning them from the initial stage? 

 (A) Rajuvenation (B) Propagation  

 (C) Training (D) None of these 

 

58- Ikyk ls lcls vf/kd dkSu lk Qy o`{k izHkkfor gksrk gS \ 

 (A) yhph (B) vke  

 (C) dsyk (D) bues ls dksbZ ugha 

 Which fruit tree is most affected by frost? 

 (A) Litchi (B) Mango  

 (C) Apple (D) Banana 

 

59- fuEu esa ls Hkkjr dk jk"Vªh; Qy dkSu gS \ 

 (A) yhph (B) vke  

 (C) lsc (D) dsyk 
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 Which of the following is the National fruit of India? 

 (A) Litchi (B) Mango  

 (C) Apple (D) Banana 

 

60- ve:n fdl dqy dk Qy gS \ 

 (A) dSfjdslh (B) :Vslh  

 (C) eSfjVslh (D) ikYeh 

 Guava belongs to which fruit family? 

 (A) Caricaceae (B) Rutaceae  

 (C) Mytaceae (D) Palmae 

 

61- fdl Qy dks JhQy Hkh dgrs gSa \ 

 (A) vke (B) ukfj;y  

 (C) dsyk (D) buesa ls dksbZ ugha 

 Which fruit is also called “Shreefal”? 

 (A) Mango (B) Coconut  

 (C) Banana (D) Naone of these 

 

62- [ktok fdl Qy dh fdLe gS \ 

 (A) dVgy (B) iihrk  

 (C) vke (D) ve:n 

 Khajwa is variety of which fruit? 

 (A) Jack fruit (B) Papaya  

 (C) Mango (D) Guava 
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63- dkyk xyu jksx fdlesa gksrk gS \ 

 (A) ewyh (B) QwxyksHkh  

 (C) yglqu (D) vkyw 

 In which black rot disease occurs? 

 (A) Radish (B) Cauliflower  

 (C) Garlic (D) Potato 

 

64- cSxu dk okuLifrd uke D;k gS \ 

 (A) dsfIlde ,ue (B) lksykue ykbZdksiflZde  

 (C) ysxusfj;k llsjkfj;k (D) lksyue esyksutsuk 

 What is the botanical name of brinjal? 

 (A) Capsicum annum (B) Solanum lycopersicum  

 (C) Lagenaria siceraria (D) Solanum melongena 

 

65- ftehdUn ds nslh fdLe esa rh{.krk dk dkj.k gS \ 

 (A) lksfM;e vkDtsysV (B) iksVkfl;e vkDtsysV  

 (C) dSfYl;e vkDtsysV (D) eSXusfl;e vkDtsysV 

 What is the reason for pungency in local variety of elephant foot? 

 (A) Sodium oxalate (B) Potassium oxalate  

 (C) Calcium oxalate (D) Magnesium oxalate 

 

66- gYnh dk mUur izHksn gS & 

 (A) jktsUnz lksfu;k (B) ufn;k  

 (C) lqjfHk (D) lqizHkk 
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 Improved variety of turmeric is - 

 (A) Rajendra Sonia (B) Nadia  

 (C) Surbhi (D) Suprabha 

 

67- xzhugkml fuekZ.k ds fy, vko';drk,¡ gSa & 

 (A) vklikl ifjogu (B) fctyh  

 (C) ikuh (D) mijksä lHkh 

Requirement for greenhouse construction is - 

 (A) Transportation nearby (B) Electricity  

 (C) Water (D) All of above 

68- yky xqykc dk fdLe dkSu gS \ 

 (A) clar (B) ,ou+  

 (C) lksfu;k (D) rq"kkj 

 Which is the variety of red rose? 

 (A) Basant (B) Aone  

 (C) Sonia (D) Tushar 

 

69- fuEu esa ls dkSu cgqo"khZ; dUnh; Qwy dk ikS/kk gS \ 

 (A) xqykc (B) xasnk  

 (C) Mgfy;k (D) XysfM;ksyl 

 Which of the following is a perennial tuberous flowering plant? 

 (A) Rose (B) Marigold  

 (C) Dahlia (D) Gladiolus 
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70- fuEu esa ls dkSu tu laidZ dk mnkgj.k gS \ 

 (A) pyfp= (B) Hkze.k  

 (C) eksckby okrkZ (D) O;fäxr i= 

 Which of the following is an example of public contact ? 

 (A) Cinema (B) Tour  

 (C) Mobile talks (D) Personal letter 

 

 

[k.M & c @ Section-B 
 

y?kq mÙkjh; iz'u @ Short Answer Type Questions 

iz'u la[;k 1 ls 20 rd ds y?kq mÙkjh; gSA fdUgh 10 iz'uksa ds mÙkj nsaA izR;sd iz'u ds fy, 

2 vad fu/kkZfjr gSaA 10 x 2 = 20 

Question Nos 1 to 20 are short Answer Type. Answer any 10 questions. Each question carries 2 

marks. 10 x 2 = 20 

 

 

1- jch Qly ls vki D;k le>rs gSa \  

What do you understand by Rabi crop? 

 

2- xsgw¡ esa ?kkl dqy ds [kjirokj dk izca/ku dSls djsaxs \  

How to manage Gramineae weeds in wheat? 

 

3- puk esa mdBk jksx dk izca/ku dSls djsaxs \  

How to manage wilt disease of gram? 

 

4- Rksjh] ljlksa rFkk jkbZ ds [kYyh ds mi;ksx dks fy[ksaA 

Write the uses of Tori, Mustard, and Rye Cakes. 
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5- Tokj ds ,d dVkbZ ,oa cgqdVkbZ okyh mUur fdLeksa ds nks&nks uke fy[ksa \ 

Write the names each of single harvest and multi harvest improved varieties of sorghum? 

 
6- vUrjorhZ [ksrh dks ifjHkkf"kr djsaA 

Define inter cropping. 

 

7- feêh esa ty dh miyC/k ek=k ¼%½ ,oa vk;ru ¼%½ dk lw= fy[ksaA 

Write the formula for available quantity (%) and volume (%) of water in the soil. 

 

8- feêh ds pwuk dh vR;f/kd ek=k ds izHkko dk mYys[k djsaA 

Mention the effects of excessive amount of lime in soil. 

 
9- jch ekSle ds pkj [kjirokj dk uke fy[ksaA 

Write name of four weeds of Rabi season. 

 

10- Qly vo'ks"k ds iqu%pØ.k ds nks ykHkksa dks fy[ksaA 

Write two advantages of recycling of crop residues. 

 

11- lgdkjh [ksrh dks ifjHkkf"kr djsaA 

Define Co-operative farming. 

 
12- lCth foKku ls vki D;k le>rs gSa \ 

What do you understand by Olericulture? 

 

13- dVkbZ&NVkbZ ds mís';ksa dks fy[ksaA 

Write the objectives of Prunning. 

 

14- fcgkj d`f"k egkfo|ky;] lckSj }kjk fodflr vke dh fdLeksa dk uke fy[ksaA 

Write the names of mango varieties developed by Bihar Agricultural College, Sabour. 

 

15- Qy eD[kh ls izHkkfor ve:n ds izca/ku dks fy[ksaA 

Write the management of guava affected by fruit fly. 
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16- QwyxksHkh yxkus ds fy, mi;qä tyok;q dk fooj.k nsaA 

Give details of suitable climate for growing Cauliflower. 

 

17- xqynkmnh dh jksikbZ dc vkSj dSls djuh pkfg, \ 

When and how chrysanthemums be planted? 

 
18- yseuxzkl ds fdl Hkkx ls rsy dk vklou fd;k tkrk gS \  

From which part of lemongrass is the oil distilled? 

 

19- vke dk vkpkj cukus gsrq lkexzh;ksa dh lwph fy[ksaA 

Write a list of ingredients for making Mango pickle. 

 

20- izf'k{k.k gsrq vuqdwy rRoksa ds uke fy[ksaA 

Write the names of factors conductive to training. 

 

 

nh?kZ mÙkjh; iz'u @ Long Answer Type Questions 

 

iz'u la[;k 21 ls 26 rd ds nh?kZ mÙkjh; gSA buesa ls fdlh rhu iz'u dk mÙkj nsaA izR;sd 

iz'u ds fy, 5 vad fu/kkZfjr gaSA 3 x 5 = 15 

Question Nos 21 to 26 are Long Answer Type. Answer any three question. Each question carries 5 

marks. 3 x 5 = 15 
 

21- eDdk dh [ksrh dk fuEufyf[kr 'kh"kZdksa esa o.kZu djsa %  

a) mUur fdLesa 

b) cht nj 

c) [kkn ,oa moZjd izca/ku 

d) flapkbZ 

e) [kjirokj fu;a=.k 
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Describe the cultivation of Maze under following heads : 

a) Improved varieties 

b) Seed rate 

c) Manure and fertilizer management 

d) Irrigation 

e) Weed control 

 

22- lw;Zew[kh dh [ksrh dk fuEufyf[kr 'kh"kZdksa esa o.kZu djsaA 

a) feêh 

b) mUur izHksn 

c) cqvkbZ dk le; 

d) cht nj 

e) [kkn ,oa moZjd izca/ku 

Describe the cultivation of Sunflower under following heads: 

a) Soil 

b) Improved varieties 

c) Sowing time 

d) Seed rate 

e) Manure and Fertilizer Management 

 

23- lrgh flapkbZ ds fofHkUu fof/k;ksa dk o.kZu djsaA 

Describe the different methods of surface irrigation. 

 

24- yhph dh [ksrh dk fuEufyf[kr 'kh"kZdksa esa o.kZu djsa % 

a) oSKkfud uke 

b) feêh 

c) fdLesa 

d) flapkbZ 

e) mit 
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Describe the cultivation of Sunflower under following heads: 

a) Scientific name 

b) Soil 

c) Varieties 

d) Irrigation 

e) Yield 

 

25- ty Hkj.k izca/ku ds mís';ksa dk o.kZu djsaA 

Describe the objectives of watershed management. 

 

26- XySfM;ksyl dh oSKkfud [ksrh dk o.kZu djsaA 

Describe the scientific cultivation of Gladiolus. 


